St. Mary’s School, Dwarka
Holiday Homework
Class VII
Subject-English

Worksheet 1

Q1. The following passage has not been edited. There is one error in each line. Underline each error and

write the corrections in the space provided. (1/2x8=4)
Incorrect Correct

To criticise means for consider the merits and demerits a)

of something and judge accordingly. It is often present b)

as something unpleasant. But the word are often taken c)

to mean the simple expression of a object against prejudice d)

Constructive criticism is often involve an exploration of the e)

different sides of an issue. It is an evaluative exercise that f)

can occur in any area in human life. It involves a close 9)

analysis of the topic in question, followed on evaluation. h)

Q2. Rearrange the following words to form meaningful sentences. (1x5=5)

a) response/ to certain/ laughter/ external/ or internal/is a/ stimuli

b) relieves and amuses/ soul/ laughter/ the depressed

c) to tone/ a good exercise/ it is/ facial muscles

d) are stabilized/ is improved/ body functions/and blood circulation

e) makes one/ friends/ feel good/ in making/ many/ laughter/ and helps




Q3. Change the following sentences from active to passive form.

a) She has prepared a nice meal.

b) They will help us with money.

c) Will the postman deliver the letters?

d) People welcomed the king.

(1x4=4)

Q4. You are a journalist. You need to interview a famous novelist. Prepare questions that you would ask him

using the hints given below.

a) interest in writing

b) inspiration for characters/ stories
c) favourite book/ author

d) message for readers

e) story line of the new novel

Q5. Fill in the blanks with appropriate words.

We are standing in front of the (a) beautiful town of Kolkata. The town was (b)

long ago. It stands (c) on Esplanade Row, near Assembly house. | have (d)

such a beautiful building before.

(1x5=5)

(1/2x4=2)

built

seen




Worksheet 2

Q1. The following passage has not been edited. There is one error in each line. Underline each error and

write the corrections in the space provided. (1/2x8=4)
Incorrect Correct

Why does we seek to build dams? a)

Large dams can ensure a availability of b)

adequate water not only of irrigation, C)

but also for generating electricity. d)

Canal systems leading from this dams e)

should transfer a large amount of water. f)

However, the mismanagement for water Q)

is caused by little people. h)

Q2. Rearrange the following words to form meaningful sentences. (1x5=5)

a) the/ promote/ traffic rules/safety

b) important/ it/ is/ to observe/ rules/traffic

c) protection/ our/ we/ must/ helmets/ own/ wear/for

d) phones/ must/ used/ not/ mobile/ be/ driving/while

e) traffic police/ making/ an effort/ is/to increase/on the roads/safety/the

Q3. Fill in the blanks with appropriate words. (1/2x8=4)

The chameleon is arelativea)  the lizard. It is areptile. It can be found b) _ Africa and
Madagascar. You can also find it in some parts of Asia and southern Europe. Some species of chameleons can
growc)  alength of 60 centimetres. However, the most common species does not grow more than 30
centimetres long. The most interesting thingd)__ the chameleon is that it is able to change colour. It is
able to change quicklye) _ white to yellow, black, green or brown. It is able to do this because of the
differencesf) _ light and temperature of its surroundings. The chameleon lives in trees. Its tail and feet
canholdong)__ the branches while itis reachingh)___ to catch its prey.




Q4. Your school has arranged a trip to a chocolate making factory. Frame five questions which you

would like to ask the workers based on the following hints: (1x5=5)
a) establishment

b) ingredients used

C) quantity

d) flavours

e) number of workers employed

Q5. Fill in the blanks with appropriate words. (1/2x4=2)

a) Breakfast lunch is served to all guests.

b) I have not seen you the time you left the school.
c) You must not leave the school __ you finish your work.
d) | make friends quite easily my sister is very shy.




Worksheet 3

Q1. The following passage has not been edited. There is one error in each line. Underline each error and

write the corrections in the space provided. (1/2x8=4)
Incorrect Correct

Burning of fireworks is not only harmful in a)

the environment and is also traumatic b)

for pets. To keep pets Save during Diwali, C)

animal activists suggest keeping it d)

indoors during the celebration. Beside e)

ensuring that pets do not go in when f)

people are bursting crackers, stay with them s))

is a best idea as it makes them feel more secure. h)

Q2. Rearrange the following words to form meaningful sentences. (1x5=5)
a) requires / swimming/the use/ of one's/ entire body/ through water/ to move

b) of all/ the healthiest/ swimming probably/is general sports

c) lungs and muscles/ it trains heart/ equal extent/ to

d) strain on/ there is/ and spine/ bones, joints/ very little

e) are given/ to swim/small canoes/ the children/ they/own/are able/on their/when

Q3. Fill in the blanks with appropriate words. (1/2x8=4)

a) Simple living and high thinking Gandhiji’s philosophy.(was/were)
b) The singer and actor, Sonu awarded a trophy. (was/were)

c) Dev and Anuj going to Goa this weekend.(be)

d) The logic and the reasoning of the theory given below.(be)

e) Radha and Meena been selected for the extempore. (has/have)

f) The Prime Minister and his wife, the press cordially.(greet)




g) The players, as well as the captain, to win.(want)

h) The committee these questions carefully.(debate)

Q4. Your school has planned a picnic for the students of your class to Kidzania during the weekend. Frame
five questions which you would like to ask the person at the enquiry desk based on the following hints:
(1x5=5)

a) timings

b) charges of the rides

c) concession for students
d) safety

e) snacks available
Q5. Fill in the blanks with appropriate words. (1/2x4=2)

The Taj Mahal is one a) the most famous monuments of the world. It is b) the world

heritage sites declared c) the UNESCO and one of the seven wonders d) the world.




Subject-Hindi

Worksheet 1
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Worksheet 2
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Subject — Mathematics

Worksheet — 1
Q1 Using properties of integers, find the value of :

(@) 20935 x 99-(-20935) (b) 115 x (-98)
Q2 Find the cost price if the selling price is Rs 8 and the loss is 20%.

Q3 Find the simple interest and the amount for Rs.750.50 for 3 years at 8% per annum.
Q4 Find the area of a circle whose circumference is the same as the perimeter of a square of
side 11 cm.
Q5 The price of a muffin increases from Rs 4 to Rs5. What is the percentage of increase?
Q6 Find
i) [400x%(-20)]+[(-250)*(-8)]
i) (-5)x[(-7)+8]
Q7 Find five rational numbers equivalent to each of the following rational numbers:

a) T b) —
Q8 In how many years will Rs.900 yield an interest of Rs.324 at 12% per annum simple
interest?

Q9 A path 1m wide is built along the border inside the square park of side 30m. Find

the cost of covering the remaining portion of the park by grass at the rate of Rs. 2 per m?,

Q10 Construct a triangle AXYZ in which XY=7.2cm,YZ=8.2cm, LXYZ=70° and

measure the third side.

Worksheet — 2

. . -3 5 -7. .
Q1 Arrange the following rational numbers — =5 ascending order.

Q2 Find the altitude of the triangle if its area is 25 acres and base is 20 m.
Q3 Construct a triangle APQR in which PQ=6cm, =Q=50°, -P=60°. Calculate the third
angle in triangle and measure this angle to check the accuracy of your construction.

Q4 Find the reciprocal of :

e ) 3%
Q5 A right angled triangle has the largest side as 13 cm and one of the sides containing the
right angle as 12cm. Find its area in sq.cm.
Q6 Sunil obtained 750 marks out of 800 and Preeti obtained 540 marks out of 600. Whose

performance is better?
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Q7 Determine if a triangle with sides of given lengths is a right triangle or not:
(i) 9,12,15 (i) 12.6, 3.2, 13
Q8 Draw a line segment AB = 6.8cm. Take any point P outside it. Using a ruler and
a compass, draw a line through P parallel to AB.
Q9 A room measures 12m x 9m. The floor of the room is to be covered by marble tiles
measuring 45cm by 30cm. How many tiles are needed?
Q10 Write:
a) 227 % as a decimal.
b) 0.023 as a percentage

Worksheet — 3
Q1 Find the gain percent if the cost price is Rs.300 and actual gain is Rs.15.
Q2 If 22.5 m of cloth costs Rs 1350, then

(i) What is the cost of 62 m of cloth?

(it) How many metres of cloth can be bought for Rs 765?
Q3 Construct a triangle ARST right angled at T in which ST=10cm and SR=8cm.
Q4 The area of a rectangular plot is 630 sq metre. Its breadth is 15m. Find its length and
perimeter.

Q5 A grassy plot is 80mx 60m. Two cross paths each 4m wide are constructed at right

angles through the centre of the field, such that each path is parallel to one of the sides

of the rectangular plot. Find the total area of both paths.
Q6 List five rational numbers between _?4 and _?2

Q7 O is any point within a AABC whose sides are 4 cm, 5 cm and 7 cm resp. Prove that
(OA + OB + OC) > 8 cm. Draw figure also.

Q8 The area of a parallelogram and a square are the same. If the perimeter of the square is
160m and the height of the parallelogram is 20m, find the length of the corresponding
base of the parallelogram.

Q9 Solve the following equations :

(@) 7x+13 =4x+43 (b) 4+5(y-1) = 44
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Q10 The total number of students in a school is 1260. If the number of girls is 52 more than that of the boys,

find the number of boys in the school. Also find the number of girls.

@)
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Subject: Science
Worksheet 1

What does an odometer measure?
Give reasons.
1) Bleeding due to a cut stop after sometime.
i) If we blow on top of a thin paper strip, it moves upwards.
What do mean by symbiotic relationship?
Write a short note on budding.
Differentiate between Arteries and Veins
Why is blood needed by all the parts of our body?
How does painting of an iron gate prevent it from rusting? What is the process
called?
How has the elephant adapted to live in the tropical rain forests?
What are the components of the blood? Write their functions.
Explain the difference between self-pollination and cross pollination with the help

of a diagram.
Worksheet 2

1. Write the word equation of photosynthesis.

2. Define the following:

a) Electromagnet d) Nutrition

3. Give reasons.

I

5
6
7.
8
9

10.

1) Rainwater is slightly acidic.

if) The word AMBULANCE is written in the mirror image on the van.

. Write any two differences and one similarity in a clinical and laboratory

thermometer.

. Differentiate between small intestine and large intestine.

. How does a saprophyte obtain nutrition?

How do forests prevent floods?

Describe the function of the human heart.

. Why is transportation of materials necessary in plants or animals?

Draw a well labelled diagram of the human digestive system.

1x2=2

N DD NN DN

N

1x2=2

1x2=2
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Worksheet 3

What causes coastal winds?
What is a fuse?

Write the uses of concave and convex lens.
Differentiate between conduction and radiation.

How do kidneys play an important role in the excretion of wastes from our body?

o g kr w0 N =

Give Reasons:
i) Steel utensils have copper base.

ii) A piece of chapatti chewed for a longer time begins to taste sweet.

7. What is neutralisation? Write any two applications of neutralization.
8. What is dialysis? When does it become necessary to take such a treatment?
9. Write short notes on

a) Seed dispersal b) Thunderstorms

10. Draw a well labelled diagram of the human excretory system.

N DN NN DN -

2x2=4




QL.
Q2.
Q3.
Q4.
Q5.

Q6. How was caste-based society different from tribal society and why do we know so little

Q7.

Subject: Social Science

Worksheet 1 (History)
Write a short note on Ghiyas-ud-din Balban.

Why did the kings in medieval India build monuments? Explain with examples.
Make a G.O. of different types of towns and give two examples of each.
What do you understand by the term silsilahs? Name any two famous silsilahs.

Why do you think Hampi was an important town during the medieval period?

about the tribal society?

Explain the teachings of Guru Nanak.

Q8. Write any three teachings of Bhakti saints.

QL.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.
Q8.

QL.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.
Q8.

Worksheet 2(Civics)

State any two functions of the Chief Minister of a state in India.

Write the steps involved in the process of a bill becoming an act.

Write any two objectives of media.

What is the role of the media in democracy?

Make a G.O. of different types of Advertising and explain any one of them.
Write any three benefits of marketing.

Differentiate between direct channels and indirect channels.

Explain any three techniques of advertising.

Worksheet 3(Geography)

Mention any four important features of the railways.

Define the term weathering. List the agents of weathering.

What are the advantages of airways?

Draw a well-labelled diagram of atmosphere. Explain its significance.

Explain the working of a water cycle with the help of a well-labelled diagram.

Make a G.O. on the various types of forests. List at least two features of any two.

Explain any three types of rural settlements.

On an outline map of the world, mark and label the following:

(i) Prairies (i) Steppes (iii) Veld (iv) Pampas

w NN N
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Subject- Sanskrit

Worksheet 1
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Worksheet 2
et 1 (@) aig ot forea | (1.5%3=4.5)
(1)

)
(2) ‘oot eng- oiie, cTdIes, He T |

9 .
T8 ®IIg- ¢Id1 ¢IdITs, Jcdd J&Us |

(3) ' @t wnq o eI werer g |
ST 2 e It ford | (1.5%3=4.5)
(1) ‘guic’ e fedtar fAufeas |
(2) ‘afd’ ewrx [w=fo] qdften fqeifas: |
8) ‘fwa @i [Eft]  dceft fawfees |

Jreel 3 IAPORN Uecus 3fd sermd: Raazermsnfa yera- ( 1/2x4=2)

s, ewa, ax, @

srea1 4 seifafRay Roeaeery ygfad yw=r <risa awnfd owa - ( 1/2x4 = 2)

Il 5 oo Yk 3fda dwen ud Raaeemsnfa grea - ( 1/2x4=2)
(1) weeruea! ------ Wt a1 wAfe | ( 65 )
(2) @1 wofld ------ sl wfea | (70 )




(a) ~errenre ------ stetre fassfee (80 )

ueel 6 wfe ar wfa faedqd owd — (1/2x4=2)
(@) g + 3o (W) wa + wa (1) dder (&) reiufe
ueel 7 3fda fduifoa uder Raaeenanfa qrera — (1/2x4=2)
2 e @O ( SoGH |/ SoET)
3 ffeer ..o geafd | eRvi/  ®Em)
4 301 ccocovevene. 3161 | ( gAleoma [/ geifestar)
yreel 8 Efcwt el Y W weRd orad | (1/2x2=1)

8230 7815




Worksheet -3
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